Section VIII
Remote Control and Emergency Brakes

The remote control unit on the Blue Bird chassis is smooth functioning and
requires little maintenance if properly serviced, Never force gears and
always keep properly lubricated with a medium grade oil, Check the unit
monthly for proper oil,

The Emergency brake is a positive action, self-adjusting type with the
handle located to the left of the driver, It is easily adjusted from the
driver's seat by the Knob at the top of the handle, -

Illustrations and parts list are included to aid you in ordering the correct
replacement parts for your chassis,

IMPORTANT, .4+, When ordering parts it is always necessary for you to give
the engine make and model, the date your bus was purchased, and complete --
description and location of the part needed, plus the part number and manu=-
facturer,

ALWAYS GIVE PART NUMBER FOR EACH PART AND COMPLETE DESCRIPTION AND MANUFACTURER
WHEN ORDERING PARTS,

Forn # BBC 65.yIII-1
January 4, 1965




| S RS ES I R R S | S I IS S TR EES S

o

I

=

& 5 =
i =

il

uy

el

1

Qo

2]

[=5]

January 4, 1965

Form 7




— REMOTE CONTROL GROUP

KEY NO, PART NO, PART NAME APPLICATION QTY
B 1 e Ball, gear shift lever, Ford #BB-7213-A All 1
2 25807=A Lever Assy,, gear shift i All except Cummins 1
2 25809-A Lever Assy., gear shift Cumnmins 1
== 3 Cap, gear shift lever, Ford #8MTH~-72220 All 1
4 Seat, gear shift lever, Ford #8MTH-7228 All 1
5 13598 Tower; remote control All 1
L. 6 5/16 - 18 elastic stop nut All 1
7 3/8 x 1 1/2" long shoulder screw All 1
8 13867=A Shaft Assy,, remote control 348 w/3152 1
8 . 25172=A Shaft Assy,., remote control 409 w/5652B 1
N 8 27072=A Shaft Assy,, remote control 391 w/5652 1
8 21623=A - Shaft Assy,, remote control 401 w/269V 1
8 23949=A ! Shaft Assy,, remote control 478 w/307v 1
== 8 16290=A Shaft Assy,, remote control 331 w/265vV 1
8 23990<A Shaft Assy., remote control JN-130 w/3152 1

8 25334=A Shaft Assy,, remote control C-160 w/5652B 1
8 25334-A Shaft Assy,, remote control C-180 w/5852 1
% 1/2 x 1 1/4" long shoulder screw All 2
510 3/8 - 16 elastic stop nut All 2
11 10965 Joint, slip, male All 1
o 12 10966 Joint, slip, female All 1
N 13, 18167-A Shaft Assy,, remote control finger All L

o1y 1/2 - 20 NF x 1 1/4" long flat head |
= socket cap screw All 1
15 13131 Finger, remote control 348 w/3152 1
15 13131 Einger, remote control . 409 w/5652B 1
o 15 13131 Finger, remote control 391 w/5652 1
15 10969 Finger, remote control 401 w/269V 1
15 10969 Finger, remote control ' 478 w/307V 1
15 10969 Finger, remote control 331 w/265v 1
o 15 13131 Finger, remote control JN-130 w/3152 1
15 13131 Finger, remote control C-160 w/5652B 1
15 13131 Finger, remote control C-180 w/5852 1
= 16 Plug button, United Carr Fastener Co,

#48174 All 1
17 10972 Plug, expansion All 1
18 26613 Bearing, remote control finger shaft 348 w/3152 1
18 26613 Bearing, remote control finger shaft 409 w/5652B 1
18 26613 Bearing, remote contrel finger shaft 391 w/5652 1
18 11624 Bearing, remote control finger shaft 401 w/269V 1
18 11624 Bearing, remote control finger shaft 478 w/307v 1
18 11624 Bearing, remote control finger shaft 331 w/265V 1
18 26613 Bearing, remcte control finger shaft JN-130 w/3152 1§
_ 18 26613 Bearing, remote control finger shaft C-160 w/5652B 1
18 26613 Bearing, remote control finger shaft C-180 w/5852 1
NI - Finger, first and reverse, Chev, #3726667 348 w/3152 1
NI - Finger, first and reverse, Chev, #3726667 409 w/5652B 1
NI - Finger, first and reverse, Chev, #3726667 391 w/5652 1
NI - Finger, first and reverse, Chev, #3726667 JN-130 w/3152 1
NI - Finger, first and reverse, Chev, #3726667 C-160 w/5652B 1
— NI - Finger, first and reverse, Chev, #3726667 C-160 w/5852 1

i Form #BBC-65-VIII-3
January 4, 1965



REMOTE CONTROL GROUP

KEY NO. PART NO. PART NAME APPLICATION QTY.

NI - Bolt, first and reverse finger - Chev,
#3726696 : 348 w/3152 1

NI - Bolt, first and reverse finger --Chev,
#3726696 409 w/5652B 1

NI - Bolt, first and reverse finger - Chev,
#3726696 - 391 w/5652 1

NI - Bolt, first and reverse finger - Chev,
#3726696 JN-130 w/3152 1

NI - Bolt, first and reverse finger - Chev,
#3726696 C-160 w/5652B 1

NI - Bolt, first and reverse finger - Chev,
- #3726696 C-180 w/5852 1
NI *26975=A Bearing Assy,, remote control finger shaft . 348 w/3152 1
NI *26975-A Bearing Assy,, remote control finger shaft 209 w/5652B 1
NI %26975-A Bearing Assy,, remote control finger shaft 391 w/5652 1
NI *18204=A Bearing Assy,, remote control finger shaft 401 w/269V 1
NI «18204-A Bearing Assy,, remote control finger shaft 478 w/307V 1
NI *18204-A Bearing Assy,, remote control finger shaft 331 w/265V 1
NI %26975=A Bearing Assy,, remote control finger shaft JN-130 w/3152 1
NI *26975<A Bearing Assy,, remote control finger shaft (-160 w/5652B 1
NI *26975-A Bearing Assy,, remote control finger shaft C-180 w/5852 1
19 17184-A Bearing Assy,, remote control All 1

*Assembly includes items 13, 14, 15, 16, 17, and 18 plus applicable NI items,

Form #BBC-VIII-4
January 4, 1965

[



